CUIVIS A

INNOVATIVE SOLUTIONS
FORYOUR MOLDS

DOUBLE
RACK

UNDERCUTS




DOUBLE RACK SYSTEM
by

COMPARE

Comparativa - Vergleich - Confronto - Comparativo - Comparatif

CONVENTIONAL SYSTEM DOUBLE RACK SYSTEM

EN Vertical function maximizing strength.
Smaller and less expensive injection machine required.
Eliminates the need for high-precision angled housings in the core plates.

ES Funcionamiento vertical que minimiza el esfuerzo del conjunto.
Permite usar una maquina de inyeccion mas pequena y economica.
Elimina los complicados taladros inclinadosde alta precision.

DE Vertikale Funktion mit maxi maler Kraft.
Ein kleineres Werkzeugkann eventuell eine kleinere und giinstig ere SpritzgieBmaschine bendtigen.
Es wird keine hochprézise Schragbohrung in der Formplatte benétigt.

[T Funzionamento verticale che minimizza lo sforzo.
Permette di usare una macchina d’iniezione piu piccola ed economica.
Elimina le complicate lavorazioni inclinate ad alta precisione.

PT Funcionamento na vertical minimizando o esforgo. ; _ .
Permite o uso de maquinas de injeccao de menores dimensdes e mais economicas.
Elimina a necessidade de furos inclindos com precisao.

FR Fonctionnement vertical réduisant les efforts. ) ) _
Permet de réduire la dimension de la presse d’injection et ainsi de réaliser des économies.
Terminé les logements inclinés de haute précision.



DOUBLE RACK LIFTER

INSTALLATION GUIDELINES

ES Consejos de Instalacion DE Richtlinien zur Installation
IT Consigli di Installazione PT Instrugées de Instalacao FR Mode d’Installation

ES Doble Cremallera DE Zweifach Zahnstangen-System
IT Doppia Cremagliera PT Duplo Rack FR Double Cremaillere

@ Cad Insertion Point — N
x° ' T
\.
Fast Fit Housing . ! A4
(see next page) Magnetlc Threaded \ |
UNDERCUTS \ £ 4008 UNDERCUTS
= i\
1 oV f 1 1 -
OfH0 \ F || (=] =]
Mat. PKT-117 r . H
Hardened 42+2 HRC E-0.05 \ | .
Gas Nitrided ~840Hv. X° \ T |~+0C +1 -
0 D — o+ =
H J
Patented Max. P100 . K
Mat. 1.2344 w10 G| |
Hardened 44+2 HRC A+0.05
Max. P125
Mat. 1.7225 L M
Hardened 482 HRC 100 Q-05
N
+0.10
: L125 A
5-0.05
N
;S ; swhotn | swhotzs | Smoan | F [ | F2 | 6| H || K [ W WS T W] |z |5h]5w)
0.5005 DR.16100L-.. - - 10 49 Mex1 46 46 3 235 3 28 25 M5 6 9 M4 4 3
+ DR22100L-.  DR.22125L-.. / KR.22125L-.. - 13| &3 M10x1 56 56 42 37 42 35 25 M6 8 12 M4 5 4
DR28100L-.  DR.28125L-../ KR.28125L-.. - 16 53 M10x1 75 75 5 54 48 48 25 M8 8 135 M4 5 5
Recommended - —
R DR.34100L-.. DR.34125L-.. / KR.34125L-.. - 16 53 M10x1 105 8 7 7 5 6 4 M3 8 16 M4 5) 5
|
IMPORTANT! | DR.40100L-.. DR.40125L-.. - 20 85 M12x1 1 1 7 8 7 7 4 MI0O 10 20 M6 6 6
| Mat. 1.1213 DR.46100L-.. DR46125L-. - 2% 85 M1 13 13 8 8 9 9 5 M2 10 24 Me 6 8
% i ferdencd 622 HRC KR58200L-. 28 85 Mi6xi5 155 155 10 122 112 10 5 Mi4 12 30 M6 8 12
Length-0- . 49522 - - . . X1. . X . .
| - - KR76200L-. 36 14 Mi6x15 21 21 13 152 152 12 6 M18 12 36 M6 8 14
| Hardened 30-32 HRC
I
A Wirror Part Fast Fit Uninstallation
= E Pieza Simétrica.
= Sym_metrisches Teill. Threaded
‘== Versione a Specchio. Fast Fit
2| Pega em Espelho.
=1 Piece en Miro. FR1
(Special) 9
Sw T N
=) Fnzi[ :*W)Wge oW gs |
Y:0.1
[ ]
Stoke100 | Swoke12s | x| A|B[c|D]E|Loo|poo] s [pis| a | R T [u| V] sroketoos | Sroketzss
DR.16100L-x - 8 12 16 - 16 9 8 20 20 142 178 - - 4 M5 M5 10 6 DR.16100L-x-S -
DR22100L-x DR22125l-x 8 12 16 20 22 12 12 30 22 148 202 202 261 65 M6 M6 17 8 DR22100L-x-S DR.22125L-x-S
DR28100L-x DR28125Lx 8 12 16 20 28 16 14 36 28 1525 214 1945 266 85 M8 M8 23 8 DR28100L-x-S DR.28125L-x-S
DR.34100L-x DR34125L-x 8 12 16 20 34 20 16 36 34 1605 227 1885 264 105 M8 M8 23 8 DR34100Lx-S DR.34125L-x-S 9
DR40100L-x DR40125Lx 8 12 16 20 40 22 20 36 40 170 244 204 284 105 M10 M10 20 10 DR40100L-x-S DR.40125L-x-S 1
DR46100L-x DR46125Lx 8 12 16 20 46 24 24 42 46 175 258 201 289 105 M10 M12 26 10 DR46100L-x-S DR46125L-x-S
I I —
I

!
—
=
b
o
o
=

Replace the X in the reference with the required X° dimension (8°, 12°, 16° or 20°) and indicate the required B°.
Sustituir la X de la referencia por la cota X° deseada (8°, 12°, 16° 0 20°), e indique el &ngulo B° requerido.

Ersetzen Sie das X der Referenz durch den gewiinschten X° Winkel (8°, 12°, 16° oder 20°). Geben Sie den bendtigten B° Winkel an.
Sostituite la X del codice con I'angolo X° desiderato (8°, 12°, 16° 0 20°) e indicate la B° richiesta.
Substituir o X da referencia pela cota X° desejada (8°, 12°, 16° 0 20°), e indique o0 angulo B° pretendido.
Remplacez la valeur X par la valeur angulaire X° désirée (8°, 12°, 16° ou 20°). Ensuite indiquez I'angle B° correspondant.




DR COOLING HOSE

ES Refrigeracion DR DE Kiihlungsschlauch fiir DR
IT Refrigerazione DR PT Refrigeracéo DR FR Refroidissement DR

ADJUSTABLE FIXING

ES Fijacion Regulable DE Einstellbare Befestigung
IT Fissaggio Regolabile PT Fixacao Regulavel FR Fixation Reglable

L+ @ Cad Insertion Point

@ Cad Insertion Point

[]2 B [w]

1/8" Gas | —

Mat. INOX 1.4021

01/8" Gas

014 ]

— — [1/8" Gas

Mat. PKT-117
Hardened 45+2 HRC

[=] 2= [w]

E 0.02 DIN912 E
IMPORTANT ! 12-0.05 | Mat. 1.4034
Hardened 50-52 HRC
" ot ¢ °
ax. 4 otal leng
£ Cooli e | Rl
: Cooing | A J8 ol 0| E ]G [H]JIN]| T | 5| Comabeun
Y Fluid Parker® Parflex parti540n-4 Mat. 1.0308 Zn RF161605 198 34 3 158 78 125 20 16 18 M5x45 8
50°C | ‘ RF222006 238 34 4 198 118 145 24 20 18 M6x45 12
% R A S _'_'_'_'_'_'_'_'_'I_'_"E B RF282408 278 42 0 238 138 165 28 24 20 M8x50 14-16 DR28/DR34/KR28/KR34/XR34
RF403210 358 42 0 318 198 205 36 32 24 M10x50 20-24 DR40/DR46/KR40/KR46/XR40/XR46
014 13
Ref. B°
DR.xxxxxx-12 DR.xxxxxx-16 DR.xxxxxx-20
Negative to 0° 10 10 10 10
+1°t0 +9° 10 10 10 15
DK.141818-...
+10°to +20° 10 15 20 25
>+20° 15 20 25 30
! Indicate the required L dimension; the length will be rounded up to the next multiple of 25mm.
E Indicar la cota L deseada. Se suministrara redondeada al mdltiplo superior de 25mm.
,<_E Gewiinschte Lange L angeben. Die Lange wird auf die néchste Vielfachen von 25 mm abgerundet.
g Indicare la lunghezza L desiderata; la quota richiesta sara arrotondata al multiplo di 25mm superiore.
% Indicar a cota L desejada. Sera fornecido com a dimens&o multipla de 25mm seguinte. L =2

Indiquer la cote L désirée. Celle-ci sera arrondie a un multiple supérieur de 25 mm.

015

Recommended Voss® part#1152012081,
part#1152112081 or part#1152162081

Flexible Tube

Min. H

=
=T

IMPORTANT

e




UNDERCUTS

Patented

Stroke
125

Stroke
200

COOLED RACK LIFTER

ES Doble Cremallera Refrigerada DE Gekiihltes Zweifach Zahnstangen System
IT Doppia Cremagliera con Refrigerazione PT Duplo Rack Refrigerado FR Double Rack Réfrigéré

@ Cad Insertion Point

FastFit -
Magnetic  Threaded

OR
Mat.FPM
0B g6 ! E Ew

Both Included

E -0.1

Mat. PKT-117
Hardened 42+2 HRC
Gas Nitrided ~840

Mat. DIN1714 CuAl10Ni

InVm\

Mat. 1.2344
Hardened 44+2 HRC

Mat. 1. 7225
Hardened 48+2 HRC

L 5 -0.05
STROKE 200 a

Recommended
" :
+

s IMPORTANT !
Stroke 125 4
ﬁ”?faén'lﬁ‘ém HRC Length-0-1

%— Hardened 30-32 HRC

49522

3G ne

COOLING CONNECTION OPTIONS |

Mirror part.

Pieza simétrica.
Symmetrisches Teil.
Vlersione a specchio.
Peca em espelho.
Piece en miroir.

!
.
=
=
&
o
o
=

IMPORTANT

(Special screw included)

-_-H-H----ﬂﬂﬂ----“

KR22125L-x 8 10.8

KR28125Lx 8 12 16 20 28 16 14 28 16 20 138 2945 272 85 M8 = M8 23
KR34125Lx 8 12 16 20 34 20 16 34 18 20 178 3115 275 105 M8 - M8 25
KR40125Lx 8 12 16 20 40 22 20 40 20 25 198 342 350 105 M10 = M10 28
KR46125Lx 8 12 16 20 46 24 24 46 22 25 218 361 350 105 M12 - M12 30
KR58200Lx 8 12 16 - 58 30 30 66 25 55 26 362 430 135 M20 1/4%Gas M14 60
KR76200Lx 8 12 16 - 76 40 40 80 30 60 34 392 470 17 M24 38%Gas M18 70

I_I_'_I_I

08x1.25
011x1.3
014x1.78
016x2
018x2
021x2.5
028x3

KR.22125L-x-S
KR.28125L-x-S
KR.34125L-x-S
KR.40125L-x-S
KR.46125L-x-S
KR.58200L-x-S
KR.76200L-x-S

Replace the x in the reference with the required X° dimension (8°, 12°, 16° or 20°) and indicate the required B°.
Sustituir la x de la referencia por la cota X° deseada (8°, 12°, 16° 0 20°), e indique el angulo B° requerido.

Sostituite la x del codice con I'angolo X° desiderato (8°, 12°, 16° 0 20°) e indicate la B° richiesta.
Substituir o x da referencia pela cota X° desejada (8°, 12°, 16° 0 20°), e indique 0 angulo B° pretendido.
Remplacez la valeur x par la valeur angulaire X° désirée (8, 12, 16 ou 20). Ensuite indiquez I'angle B° correspondant.

J
—
=
&
o
o
=

Ersetzen Sie das x der Referenz durch den gewiinschten X° Winkel (8°, 12°, 16° oder 20°). Geben Sie den bendtigten B° Winkel an.

KR COOLING HOSE
ES Tubo Refrigeracion KRDE KR KiihlungsschlauchiT Sistema Refrigerazione KR PT Tubo de Refrigeracao KR FR Tube de Rrefroidissement KR

@ Cad Insertion Point

Max. 963
oP
=t IMPORTANT !
|
“ : -‘C %+@
} Radius/Chamfer
R Min. 0.8mm. )
Mat17205— ||
‘ H
| A
|
1 S
o] OUT €=~ — O+ —| <=\
\

.
---ﬂﬂ--““ﬂﬂ-

FC.220500 4835 165 31 M8x1 35 KR.22125L
FC.280500 50 18 25 475 25 41 MiOx1 45 4 10 16 KR.28125L
FC.340500 50 18 25 475 25 41 Mi2x1 5 45 12 16 KR.34125L

FC.400500 54 20 25 475 25 44 Mi14x1 7 65 14 16 KR.40125L/KR.46125L

—
=
[
occ
o
o
=

KR.xx125L-8
KR.xx125L-12
KR.xx125L-16
KR.xx125L-20

10
10
10
10

16
18
20

-

22
26
31

20°<B<25° | 25°<B<30° | 30°<B<35°
20 23 25

25
31

29 =

[=]:Eq =]

Max.
80°C



XTREME DOUBLE RACK INSTALLATION GUIDELINES

ES Doble Cremallera Xtreme DE Xtreme Double Rack ES Consejos de Instalacion DE Richtlinien zur Installation ;
IT Doppia cremagliera Xtreme PT Xtreme Double Rack FR Double Cremaillere Xtreme IT Consigli di Installazione PT Instrugées de Instalacao FR Mode d’Installation

@ Cad Insertion Point

Fast Fit - Both Included

Magnetic Threaded

Mat. PKT-117
Hardened 42+2 HRC —
Gas Nitrided ~840Hv.

Mat. 1.2344
Hardened 44+2 HRC

Mat. 1.7225
Hardened 48+2 HRC

1.5-0.05
&

|
!
+ |
|
Recommended CB
e R @ : P
! D at 11213
Jl ] Jl L Hardened 62+2 HRC
| 495+2
i az| Hardened 30-32 HRC
il | L swoket00 [ F A1 2 | 6 [ H [yl K M IN[s| T Wl Y[ Z]sW| sw]
! L. XR34100L~. 16 53 Mioxt 8 105 6 5 7 6 4 M8 8 16 M4 5 5
8C g6 XR40100L-. 20 85 Mi21 11 1 7 7 8 7 4 MO 10 20 M6 8 12
XR46100L-. 25 85 Mi1 13 13 9 9 8 8 5 M2 10 24 M6 8 14
! Mirror Part.
= Pieza Simétrica.
|<Z_,: Symmetrisches Teil.
== \/ersione specchiata. . . .
E Peca em Espelho. Fast Fit Uninstallation
= Piece en Miroir.

Magnetic
Fast Fit

Sw Threaded
Fast Fit

FR1
2 ﬂ
=) FR2 ;@W o
L

Y10.1

smat | |l 8 o0l e| L | P || T u]V] smewos
XR34100Lx 24 28 32 36 34 20 16 36 34 159 225 M8 M8 23 8 XR34100L-x-S SW2
XR40100L-x 24 28 32 36 40 22 20 36 40 170 240 M10 M10 20 10 XR40100L-x-S

XR46100Lx 24 28 32 36 46 24 24 42 46 174 255 WM10 M12 26 10 XR46100L-x-S o
| | \

Replace the X in the reference with the required X° dimension (24°, 28°, 32° or 36°) and indicate the required B°.

Sustituir la X de la referencia por la cota X° deseada (24°, 28°, 32° 0 36°), e indique el angulo B° requerido.

Ersetzen Sie das X der Referenz durch den gewUinschten X° Winkel (24°, 28°, 32° oder 36°). Geben Sie den bendtigten B° Winkel an.
Sostituite la X del codice con I'angolo X° desiderato (24°, 28°, 32° 0 36°) e indicate la B° richiesta.

Substituir o X da referencia pela cota X° desejada (24°, 28°, 32° 0 36°), e indique 0 angulo B° pretendido.

Remplacez la valeur X par la valeur angulaire X° désirée (24°, 28°, 32° ou 36°). Ensuite indiquez I'angle B° correspondant.

!

.
—
=
=
o
o
=




COOLING DISTRIBUTOR

ES Distribuidor Refrigeracion
DE Verteilerschlauch

CONNECTION HOSE

ES Tubo Conexion
DE Verbindungsschlauch
IT Distributore Refrigerazione IT Tubo Collegamento
PT Distribuidor de Refrigeracao

FR Distribution de Refroidissement

UNDERCUTS __ g g @ Cad Insertion Point

PT Tubo de Ligacao
FR Tube de Liaison

UNDERCUTS . y © Cad Insertion Point © Cad Insertion Point @ Cad Insertion Point

i Max. g! i Max. : Max. i Max.
) 80°C ) 80°C )y 80°C 349 020 ) 80°C
75
‘ |
L 0125
s 19.5 13| o1/ Gas| ——— LW = lm, m |045 | 0139 U 77| 195
9.75 1125
300 e |

\ \ . 3
vy 360°
T N L mat11730 . | ‘ /
- ﬂ:‘:\‘l} ] ‘{‘JLJ‘:’;’ - ’J1/8” Gas * ] —1= e «\» 04.5 Mat. 1.0308 Zn Magnet Mat. 1.7225
[ g R i i e

12 I L 1/8" Gas '
42 R @ b —Q p

Ji 2 \\ // ‘/\)ﬂ — o5 ? _ Parker® part# 837BM-4-BLK-RL Mat.1.0308 Zn

M8x25
DIN7984

RL.181235 SM.122020

—
[==]
o

21/8"

DING0B

(Included)

—
=
=
oc
o
(-9
=

Recommended

Parker® part# 837BM-4-BLK-RL
l,.’
= — = -
Ref. Ref. wrp |- I.HEH'I"} | €| ———— 7 —————- eea|e127
- 1 L |

RD.182012 MK.120300 \

Not included

EJECTOR PLATE SPACER
T R ES Distanciador Placa INSTALLATION GUIDELINES

90° PLATE CONNECTOR
ES Conector Placa a 90°DE 90° Platten-Verbindungsstiick

DE Auswerferplatte Abstandhalter . s . . s . - o -
IT Distanziale Piastra ES Consejos de Instalacion DE Richtlinien zur Installation IT Consigli di Installazione PT Instrugdes de Instalacéo FR Mode d’Installation

PT Espacador de Chapas o
FR Entretoise de Passage )

IT Collegamento Piastra a 90°
PT Conector de Placa a 90°
FR Gonnexion Dans la Plaque de 90°

EJECTION - 3 © Cad Insertion Point : COOLING CONNECTION OPTIONS
Option B

UNDERCUTS @ Cad Insertion Point

- -0.01
E MaX 11.5¢2 915004 Option A
§ 80°C o 0
s
1 Mat.1.1730
\
—
) 39
-1_5,}-1_5_‘ |
‘ |
M8x25
1801 @* Hardaned 300 HRC DIN9T2
! SW6

TS

CK.181839 TR.204008 20
TR.404008 40




ES TABLA DE SELECCION: Qué DR / KR / XR necesito?

DE AUSWAHLTABELLE: Welcher DR / KR / XR ist am besten geeignet?

IT TABELLA PER SCELTA: Di quale DR / KR / XR ho bisogno? '

PT TABELA DE SELECGAO: Qual é o DR / KR / XR que preciso?

FR TABLEAU DE CORRESPONDANCE: Quel est le DR / KR / XR que j’ai besoin? l\\

)
SELECTION TABLE: WHICH DR / KR / XR DO | NEED? \
|

Stroke 100 (DR) Stroke 200 (KR) Stroke 100 (DR) Stroke 200 (KR) ”
(Multiply S value x2) (Multiply S value x2) Stroke 125 (DR / KR) Stroke 100 (XR)

DR.xx100L-8 DR.xx100L-12 DR.xx100L-16 DR.xx125L-8 | DRxx125L-12 | DRxx125L-16 | DR.xx125L-20
KR.xx200L-8 KR.xx200L-12 KR.xx200L-16 KR.xx125L-8 | KRxx125L-12 | KRxx125L-16 | KR.x125L-20

] s i s ] s s s s s s s
BCORE i B
140 212 0 28.6 175 358 45.4

14.0 14,0 21.1 21.3 1 28.5 28.8 36.1 - - 175 176 264 266 356 360 452 457 . | 527 537
139 141 21.1 21.4 28.3 289 359 >R 17.4 263 267 354 362 449 460 . 2 522 542
139 141 210 215 28.2 29.1 357 00l 17.4 262 268 353 363 446 463 . 6 517 547
13.9 14.1 20.9 215 28.1 29.2 35.4 SQXXf‘;gHg 173 261 269 351 365 443 466 . I 51.3 552
XX -
138 142 208 216 279 29.4 35.2 KR.xx125L-12 17.3 260 270 349 367 440 469 ! 3 508 558
XR.xx100L-24
13.8 142 20.7 217 27.8 295 35.0 17.3 259 271 347 369 438 473 : 7 504 563
13.8 143 20.7 2138 277 29.7 348 17.2 258 272 346 371 435 476 ] 1 499 569
137 143 20.6 219 275 29.8 346 17.2 257 273 344 373 432 479 . 5 495 575
137 143 205 22.0 27.4 300 34.4 17.1 257 274 342 375 430 482 ; 9 490 581
137 144 20.4 22.0 272 302 342 17.1 256 276 341 377 427 486 . 3 486 587
136 144 20.4 22.1 27.1 303 339 f 17.1 255 277 339 424 489 ; 7 482 593
136 144 203 222 27.0 305 337 - 17.0 254 278 337 381 422 493 . 2 478 599
136 145 202 223 26.8 307 335 = 17.0 253 279 336 383 419 496 . 6 474 606
135 145 20.1 204 2.7 30.8 333 DRXXEOHO 169 252 280 334 386 417 500 . 1 469 613
135 146 20.1 225 26.6 310 33.1 DLt 169 251 281 332 388 414 504 . 6 465 620
XX -
135 1456 200 226 26.5 312 329 XRoxx100L-24 16.8 250 282 331 390 411 507 . 0 461
13.4 146 19.9 227 26.3 314 327 16.8 249 284 329 392 51.1 . 5 457
13.4 147 19.8 22.8 26.2 316 325 16.8 248 285 327 395 . 1 453
13.4 147 19.8 229 26.1 318 323 16.7 247 286 326 397 ! 6 449
13.3 148 23.0 259 320 321 246 287 324 400 . 45
133 14.8 19.6 23.1 25.8 322 319 - 16.6 245 289 322 402 : 442
13.2 149 195 23.2 25.6 32.4 317 SR 16.6 244 290 321 405 . 438
132 149 19.4 233 25.5 326 315 . ;]OHZ 165 243 292 319 408 . 434
XX -
13.2 149 19.4 23.4 25.4 328 313 IMPORTANT ! KRXX200 L-12 165 242 293 317 410 . 430
. DR.xx125L-8
13.1 150 19.3 235 25.2 33.1 311 KRxx125L-8 16.4 241 204 316 43 ! 426
XR.xx100L-24
13.1 150 19.2 23.7 25.1 only B°<0° XX 16.4 240 296 314 ! 422
13.1 151 19.1 23.8 16.3 239 297 312 . 4138
13.0 151 19.0 239 163 238 299 311 . 415
130 152 19.0 24.0 16.2 237 30.1 . 411
129 152 189 24.2 162 236 302
129 153 18.8 16.1 235
12.9 154 187 16.1 23.4
12.8 154 186 16.0 233
12.8 155 185 16.0 23.2
127 155 185 159 23.1
127 18.4 159 23.0
127 183 15.8 229
126 182 15.8 227
126 18.1 15.7 226
125 18.0 157 225
12.3 175 15.4 219
12.0 169 15.0 21.1
17 163 146
113 155 14.1

© o N oo g B~ W N
© o N oo g B~ W N

_
o
_
o

=
=
=
=

—_
N
—_
N

—
w
—
w

N NN NN DN = =2 2
D O A W N =S O © 00 N O o >
N NN DD DN = s 2
D O A~ W N -2 O © 00N OO o B

N
3

25.0
24.8
24.7
24.6
24.4
24.3
24.1
24.0
23.8
237 Special B° angles possible
under request

ES Posibilidad de angulos B°
234 especiales

23.2 DE Sonderwinkel auf Anfrage
maglich (B°)

IT E’ possibile avere angolazio-
22.2 ni B° speciali su richiesta

213 PT Possibilidade de angulos 8°
especiais

FR Possibilité de réaliser des
19.1 angles B° spéciaux.

W W W W NN
w N == O O o
W W W W N NN
W N = O O oo N

w
S
w
S

w
(53]
w
(331

w
[=2]
w
[=2]

[
J

23.5

w W
o o
w W W
© o

N
o

23.1

[ I
o o
[
o o o©

(2}
(5]

20.3

(1)
o

D
o
D
o




CUIVISA

WWWwW.cumsa.com Ed. 2024 - 03

Isaac Peral, 21
08960 - Sant Just Desvern TH E I:UTU R E

Barcelona - Spain

Tel: +34 93 473 25 52
Fax: +34 93 473 49 19 I I
e-mail: info@cumsa.com

injo i N

Barcelona (Spain) @ Shan{héi (China) @

@ Bovisio Masciago (ltalia)
Troy (MI) USA @ Maceira (Portugal) @ @
Oliveira de Azemeis (Portugal)

Shenzhen (China) ©© Hong Hong

CUVISA EURO__ CUMVMISA CUVISA CUVISA

—uUsA— CUVISA —ITALIA— — 8% $8 —  -DEUTSCHLAND-
Tel.: +1 248 850 8385 Tel: +351 244 770 420 Tel.: +39 (0) 362 170 8735 Tel: +86 755 2998 5783 Tel.: +49 (0) 160 2611 003
e-mail: info@cumsausa.com e-mail: geral@eurocumsa.pt e-mail: cumsaitalia@cumsa.com  e-mail: cumsachina@cumsa.com  e-mail: deutschland@cumsa.com

CUMSA ASIA PACIFIC Ltd.

Tel: +86 755 2823 6174

NEED HELP INCORPORATING CUMSA PRODUCTS?
Contact our team at technical@cumsa.com for a free project consultation.




